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1) Determine the derivative of each function.
a) y = sin(4x) AR A b) f(x) = sin(2x + )
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g) f(t) = sin®(cos t) h) f(x) = —x?sin(3x — )
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i) RWs £(6) = sin® 9 cos? )y =x"tcos?x
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k) y = 2tanx — tan(2x) I} y = (tanx + cos x)?
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2) Find the slope of the function y = 2 cos x sin(2x) at x = g
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3) Find the equation of the line that is tangent&o y = x? sin(2x) at x = —.
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4) Determine Efor y = x“cosx.
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5)a) Write y = cscx in terms of sin x as a reciprocal function.
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b) Write the function in terms of a negative power of sin x
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c) Use the power rule and chain rule to find the derivative of y = cscx
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Answers:

1)a):—i' = 4cos(4x) b)f'(x) = 2cos(2x + m) c)% = —6cos(39) d) :—: = 2sinx cosx

e) f'(x) = —2sin(2x) f) % = 12 sin(2t — 4) cos(2t — 4) + 12 cos(3t — 1) sin(3t — 1)

g) f'(t) = —2sin(cost) cos(cos t) sint h) f'(x) = —3x? cos(3x — ) — 2x sin(3x — 7)
= 2

i) f'(8) = —2sin® @ cos®* O + 25in cos® @ j)% = -x—zcosxsinx —Coj—zx

k) y' = 2sec?x — 2sec(2x) 1)y’ = 2(tanx + cosx)(sec®x — sinx)

2)0

3)y = 2m%x + 2n3
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—32' = —x2cosx —4xsinx + 2cosx
dx
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5)a) y = o b)y = (sinx)™" «¢) s cscxcotx




